TORQUE 20-25 IN-LBS

41
TORQUE 35-43 IN-LBS

KEY

z
O

\OCD\IO\U'I#WN—"

Allparts Equipment Inc 1-877-475-5660

13

PAR T NUMBER

91895680
GS-0795
GS-0443
GS-0225
GS-0227
GS-0446
GS-0437
D25571
GS-0077
SSF-553-1
GS-0033
GS-0433
D25721
GS-0117
D22311
SSF-8150
D25283
SSN-1619-ZN
GS-0118
D25704
D25292
SSF-605
SSN-632
GS-0763
D24466
D25753
D25732

—_—

GTO5200C-WK

3 SCREW ON HAND TIGHT

el

6
7
23
25 —|
9
.10
TORQUE
45-55 IN-LBS
TORQUE
60-70 IN-LBS
15
DESCRIPTION

SCREW .250-20X.750
TANK FUEL 7G
CAP FUEL TANK
HOSE FUEL
CLAMP FUEL
GROMMET DRAIN COCK
DRAIN COCK
ASSY GENERATOR
COVER END

SCREW #10-24X.563 THD ROLL

ISOLATOR VIBRATION 1.50D

ISOLATOR

SHIELD HEAT

LUG GROUND

SCREW .313-18X.875 UNC

NUT .312-18 UNC HEX FLANGE

ENGINE TECUMSEH 11HP

WASHER LOCK EXTERNAL TOOTH

STRAP GROUND

ASSY FRAME

ASSY PANEL

SCREW .313-18X1.25 HEX CA

WASHER .875 OD .375 ID
SNAPIN CLIP

BLOCK SHIPPING 1.00"

LABEL SHIPPING BLOCK REMO

SCREW #10-32 PAN PHLPS TH

www.allpartsinc.com

17
TORQUE
120-144 IN-LBS

June, 2011

18

32
TORQUE 96-120 IN-LBS



SHOWN FOR
REFERENCE ONLY

GTO5200C-WK (cont'd)

SCALE 1:1
CAPACITOR WIRING

KEY

NO. PAR T NUMBER
1 GS-0511

2 SS-1503-CD
4 GS-0883

5 GS-0110

6 GS-0884

7 SS-6506-CD
8 SSF-576

9 GS-0091-1
10 GS-0861

12 SSF-575

13 D25570

16 GS-0595

17 SSF-553-1
20 SSF-616-ZN
21 GS-0862

ITEM NOT SHOWN
GS-0871

8 TORQUE 120-144 IN-LBS

271 INSERTINTO O-RING
GROOVEPART OF 10

DESCRIPTION
ADAPTER DRIVE END
WASHER LOCK
ASSY ROTOR
BOLT STATOR THRU
ASSY STATOR
WASHER FLAT 11/16 OD X 11/32
NUT .313-24 HEX W/KEPS
BOLT ROTOR THRU
BEARING SUPPORT O RING
NUT .250-20 HEX W/KEPS
CAPACITOR
BRACKET CAPACITOR
SCREW #10-24X.563 THD ROLL
SCREW .313-24X1.00 HEX
O-RING ROTOR BEARING

*DIODES

SHOWN FOR
REFERENCE ONLY



GTO5200C-WK

6 TORQUE 2-10IN-LBS
2 TORQUE 2-10 IN-LBS

/1 0 TORQUE 2-10 IN-LBS

PAR T NUMBER

D25285
SSF-583
SSF-584
SSF-595
D25706
GS-0605
SSF-3156
GS-0024
GS-0455
GS-0804
D20573

DESCRIPTION

PANEL

SCREW #6-32X.500 PAN HEAD

NUT #6-32 SPEED SELF

NUT .438-28 UNEF HEX JAM

COVER PANEL MINI W/CLIP

PANEL WIRE HARNESS

SCREW #10-9X.500 THREAD
CIRCUIT BREAKER 15 AMP
RECEPTACLE 4-PRONG
RECEPTACLE, DUPLEX
CIRCUIT BREAKER 25 AMP




